Functions 11

Course Notes

Unit 3 — Quadratic Functions

FUNCTIONS TO THE MAX (OR MIN...AND SOMETIMES ZERO)

We will learn
e the meaning of a zero, and how to find them algebraically
e to determine the max or min value of a quadratic algebraically and
graphically
e to sketch parabolas (using transformations, zeroes, the vertex and y-
intercept)
e tosolve real-world problems, including linear-quadratic systems

AcoQ)

MATH@TD

1



Chapter 3 — Quadratic Functions

Contents with suggested problems from the Nelson Textbook. You are welcome to
ask for help, from myself or your peers, with any of the following problems. They
will be handed in on the day of the Unit Test as a homework check.

Section 3.1
Pg. 145 — 147 #3, 4, 5bc, 6 (expand!), 7, 8, 9de, 12 (tricky!)

Section 3.2
Pg. 153 #1, 3, 4abc (one method is fine), 6 (Desmos), 7bc, 8, 9 (try Partial Factoring), 11
(ask for help on c if you feel the need!)

Section 3.4
Pg. 167 — 168 #3 — 5abc, 6 — 7acef, 8 - 13

Section 3.5
Pg 177 -178 #1bC, 2de, 4abef, 6Cd, 7 (Hint: what is the height of the ball when it is on the ground?), 9 11
(#9 and 11 are tricky — ask for help!), 14

Section 3.6
Pg 185 — 186 #1 — 3abc, 4, 6 — 9 (these are a bit tricky...ask for help!), 15

Section 3.7
Page 192 #4 - 6,8 - 10

Section 3.8
Pg198 — 199 #1ab, 2ab, 3, 4bcd, 6, 8, 11 (tangent means touching at one point!), 12
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Chapter 3 — Quadratic Functions

3.1 — Properties of Quadrat@ritl()b L.;DQM/’ exvadm% R

Learning Goal: We are learning to represent and interpret quadratic functions in three different
forms.

This lesson is a review of some of what we learned about quadratics in Grade 10. In Grade 10
we studied the THREE FORMS of quadratic functions and the information they give:

1) Standard Form - f(x) = ax® +bx#c |
Information
o > @) ’}/AE_ /Oamf'r‘w/a oﬂﬂﬂﬂj uf/O oM (/OL((,__&

G = C7) 7L£L /Owné)a e 0}0%._-; ﬁjcﬂwiﬂ A yHYex a (we
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2) Zeros (or Factored) Form - f(X)=a(x— r)(x s)
Information '

f | /
a | A0 L - e
( onvd § ™Me The Z€r=5 //\ ( 7

3) Vertex Form- f(x)=a(x-h)* +k
Information
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Recall the concept of the axis of symmetry. A g
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Example 3.1.1 >0

Given the quadratic function f (x) @x + 3) -1, state:

a) The direction the parabola opens
b) The coordinates of the vertex
c) The equation of the axis of symmetry

@ @@mﬁ V“D
D (3, 4)

d \C
) K=-5

HoS~I




Example 3.1.2 L
Given the quadratic function g(x) :é/zx%’)(x—l), state

a) The direction the parabola opens
b) The zeros of the quadratic o
c) The equation of the axis of symmetry
d) The coordinates of the vertex
e) The function in vertex form

Sketch the graph of the function.

o{) @PW aout/")

]

(

_ i

o 2 N o= ¢

/ S ial S —
C> ,108 - d—j T 5

J) Slhy=K
()= 3 [~1+3)(~1+)
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Given the two points (4,7), (-5,7) which are on a parabola, determine the equation of
the axis of symmetry.
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Example 3.1.4 (From Pg. 147 in your text)

11. The height of a rocket above the ground is modelled by the quadrartic
B funcrion h(t) = —4r* + 321, where lfg_(_t)_in the height in metres

2
t SCCOﬂdS Z{F[El' I'l'lﬁ l'OCkEt was launched. C_,'> //) (5) = ?//?) r 39? (g)

a) Graph the quadratic function.

b) How long will the rocket be in the air? How do you know? N = - ?é - ?6
¢) How high will the rocket be aftcr@? £
d) What is the maximum height that the rocket will reach? — 6 O

.

(5.¢4) b) hit) ~ r‘f/é( & fgj

6O ._
£=&5
=0
o % s '% _?ﬁ%’ TAQ FW vl b o/
"ﬁ?r’ ?(FGCDAOJY
KET
0) Jos - C—%—& - 4|

\)

()= -14)"+ safs)

= 67 + (2%
= 6{//14

Success Criteria:
e | can recognize a quadratic function in standard, factored, and vertex form
e | can determine the zeros, direction of opening, axis of symmetry, vertex, domain and
range from the graph of a parabola
can determine the equation of quadratic function from its parabola
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Chapter 3 — Quadratic Functions
3.2 — The Maximum or Minimum of Quadratic Functions

Learning Goal: We are learning to determine the maximum/minimum value of a quadratic
function.

One very important aspect of quadratic functions is that they all have either a maximum (if the

associated parabola opens down) or a minimum (if the parabola opens up). Max/Min’s have so
many applications in the real world that it’s ridiculous.

The BIG QUESTION we are faced with is this:

How do we find the Maximum or Minimum

Value for some given Quadratic?
Lo ey or Plo) valee

Examp_le 3.2.1_ _ fixl=x? —4x+3
To find a minimum (or s f J
maximum) of a quadratic, you \ [ /
are NOT allowed to !
| -1 I 1 4
|‘\ 5 lr}’\ I R ;3
| 1 /_,_._.—-_.____Jy_ Q
%\kgm; i J.' Ll
o Holun b atl(2,-9
/

Figure?ﬁﬂ #’\Q_ M Volue /S '—"(

Figure 3.2.1b
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So, we do need to find the vertex, but we also need to KEEP IN MIND WHAT THE NUMBERS
ASSOCIATED WITH THE VERTEX MEAN.

In order to find the vertex using algebra, we will consider three techniques:
1) USING THE ZEROS, TO FIND THE AXIS OF SYMMETRY, and then the vertex (this is
the easiest technique, assuming we can factor the quadratic).
COMPLETING THE SQUARE to find the vertex (this is the toughest technique, but
* it’s nice because you end up with the quadratic in vertex form).
3)

USE PARTIAL FACTORING TO FIND THE AXIS OF SYMMETRY, and then the vertex.

2)

ValRs /M Ax
Example 3.2.2 [
Determine the max or min value for the function f (x) =-3x*-12x+15 by finding THE
ZEROS of the quadratic. /‘K«JS - st =h Verdex (Hg;( )
L e boy ’“‘_ : ) —~
0O/ > P, =) J— ﬁ h k

| Play = =3/-2) - Ia(2) «(5,
= =3 (x+8)(x-1) R |

II MMenne L/CA(L-\-(_ q‘)ﬂ
>(’: "g xz |

Example 3.2.3 = ;?7 ‘l Q 7

COMPLETE THE SQUARE to find the vertex of the quadratic and state where the max
(min) is and what the max (min) is

g(x) =2x>+8x—-5 | Oﬂclsr o Qom f‘wﬁ fwo ferms

=7
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Example 3.2.4
Using PARTIAL FACTORING determine the axis of symmetry. Then find the vertex and
state the min or max value.

ol h(x) =5x? +15X—3
T 1 9(3) DR
o P =lox(x ©3) -
c0M J
" R

/ O+ -3 -3 o7 -~ 5#,_Iq
hos- =25

L{F:/O/u/‘g) = Sf/f/.ﬁ_)o\-ﬁ /§A.¢) -3
The AWAYS = b5 -~ ads 7
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Example 3.2.5
Using graphing technology, determine the max/min value of the quadratic

f(x) =0.3x*-1.2x+3.1

N \/

(2,1.9)

)

N

Success Criteria:
e | can recognize when a function has a maximum or minimum value (based on “a”)
e | can find the max/min (vertex) value using various methods (partial factoring © )
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Chapter 3 — Quadratic Functions
3.4 — Operations with Radical Numbers

Learning Goal: We are learning to simplify and perform operations on radicals.

First we need to understand that RADICALS (square roots, cube roots, etc) ARE NUMBERS, and
working with them should not induce any kind of fear in your spirit. So, FEAR NOT!

A COUPLE OF THINGS TO REMEMBER:
1) The square root of a square number is a nice integer.
o

e.g. /25 = 5
w7

2) The cube root of a cubed number is a nice integer

eq.Y27= 5
fizs- 5

Now, if we don’t have a radical with a perfect square (or cube as the case may be) we could use a
calculator to find the root.

e.g. V24 = 4.89897948556635619639456811494118...

— _— N e .

] —

ﬂ(? 1= (e I;‘_//‘UZ fii}L°1 /_/):_ﬁC‘ I"'/‘\ < ( a1 ,." f".;"m]i.- o @( /} w /ng.l.
(v

BUT the “DECIMAL EXPANSION” is unending and doesn’t repeat and so we can only
APPROXIMATE THE VALUE of +/24 because of the need to ROUND-OFF. “EXACT NUMBERS” like

\/24 are sometimes preferred in mathematical solutions and so we do need to know how to
work with these radical NUMBERS. Working with radical numbers means we’ll be:

e adding/subtracting
e multiplying/dividing them.

Before beginning, there is one thing to keep in mind:

10
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COEFFICIENTS WITH COEFFICIENTS, RADICALS WITH RADICALS

e.g. The number 24/5 has a coefficient part of Q and a radical part of J?

Such a number (with both a coefficient and a radical part) is calleda ;')@(/” pad‘co/

Example 3.4.1
Multiply the following: —

[4

gExE = Syd = JIS
7
T

) -2/7x36 = Py

C) 5105 - 5” 50

Bl = =2

E le 3.4.2
Xampse|mpllfythe following: Forn Mk a mfl)(@(/ J‘adr‘cq/
Hak)J’;Z\/:—’S‘ i [:"o -C.'/'w7 }m fl@ ef Jf SCE},“'&/"C' .-
F - = ﬁ {7{'.-/. Je }'f/zo r/f; _ 0! . / _/
E—
e 5 O YR
= - 2 = -7)3
o . - COJF IR
c) 2J_o x(- 3¢—) )
N 7 )



_.?72)(%#7)(’7— /0)(

2
?)( /r Note: We can only ADD OR
SUBTRACT “LIKE” RADICALS.

e.g. 2_\@ and —5\_@ ARE LIKE, but
a) 3V2+7V2 24/5 and 3420 ARE NOT (or aren’t

they?.....)
= 10/

Example 3.4.3
Add the following:

Qw[-‘aﬂaﬂ"z'\’?fg Md Df/,'om;‘an(w.

Lt BTE
b) 57— 3v5~77) =7
- - ~ 35
o - 32
28
c) 2/5-3V20 F/‘}A
- 27 3077 e Z6)5 =

Jia
- 27 -6J5 .-

. YF

V)
\
M
3
C

d) —3@: 243 S .
AN e S FIE)
-20)z + 9J3

= ’;)/J__g" ‘@

N

V)

J
il
o]
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Example 3.4.4
Slmpllfy

a) 2\/_ (3\/_ 5\/_ 6)

= 6J6 ~1 f
:6JZMOWJJ'

= 6Jg - 30X

FoT L b) (3\/_ 5v2)(2V3 + 3V2)

e ‘?99 o T s

g 6

- 34 +19)5 - 10)6

= %%—4
) (5- 2\/_)(5 QF}

25 —oJX -10)a /f?M

- 33 -20)2

v

Success Criteria:
e | can recognize “like” radicals. Totally awesome dude!
e | can write a radical in simplest form
e | can simplify radicals by adding, subtracting, multiplying, and dividing
e | can appreciate that a radical is an EXACT answer and therefore SUPERIOR to decimals

13
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Chapter 3 — Quadratic Functions
3.5 — Solving Quadratic Equations

Learning Goal: We are learning to solve quadratic functions in different ways.
Note that last day we looked at section 3.6. We now go back to 3.5 as this is a better order for the

concepts.
Before beginning we should look at the difference between a Quadratic FUNCTION and a
Quadratic EQUATION. A function such as f (x)= 3x* —5x+1 has a graph with infinitely many

points. On the other hand, a quadratic equation (in standard form) looks like:
3x* —5x+1=0

(What is the difference between the function and the equation?)

In section 3.6 we saw how to find the zeroes of quadratic functions, using the techniques of
factoring, the quadratic formula or using graphing technology. As it turns out, solving a

quadratic equation is Exactly ¢ Same oS }M/b 0 2@@5‘/

] , Or O SOLUTIONS.

Quadratic equations, therefore can have a ,

Example 3.5.1 .
Solve the equations: ). (¢ | O N
a) [x* —~5x-14=0 b s | b) 2x* +5x =[2x+4

=7, 2R . N ~ | 7/
(X L7)(}”;?>: 0 : | g x T ?X - f =N, |'U[ ?LC‘Q-/“M@/’?
X’_“,? O"fj X = -~ o _b r,;i ba*‘ Yo o O‘}(:fs* 7
gD ‘f‘LQ So/u/(‘“@bf II| x= - Qo 7
|I ¢ - 0. %5
3] 3y ¢ q
) _ -3 -J¥
@ x= 2

| =

e X--235

| /
4 14




c13p 1] 1322 =129 (45

Example 3.5.2 x*
2 — =
Solve —2.3x* ~132x=(145 " SNESE /505y
5 =
— o _ 45 = [~ —
437 o[ R LS .
@ x = 1,30 + [ (5 0wy @
. e L3z = Jisedd
x = -LI3 A
x= 0.5¢
Example 3.5.3 (From your text: Pg. 178 #6a)
6. Determine thc[@quamidﬂ: for each ([@unctiﬂn, where x is the
number sold, in thousands. o p()() -5 / - {0/)1‘0.( /;C}{r
a) P(x) = —x + 12x + 28 MG sn = L
0 = —xc i <28 Soleng it the g rd
""] ,9\ '-( ﬂ:ﬂgg LJ) = drRme/&.
= X — e —2F AL <l | .,
© ——N; QD Gre on s J evaleate

- (=-19)(xt)

X = W Cm(J XX Ilf'“d”‘\“ﬁ'ye
/‘ffooo Qoo

L d@.?{ Wfé) b 9(/ /gowc) Jrows  Fe b/@,é —even
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8. The pupula[iun of a region can be modelled b) the function
P(r) = 0.4¢" + 10t + 50, where P(#) is the population in thousands and
t is the time in years since the }rca@ — (795 > =7
TR Y
a) What was the pﬂpuiatmn in 1995: >//) ? &0

.L

b) What will be the population in 20102 —Z

c) Inwhat }'eat will the population be at least -’-i}ﬂ [}ﬂﬂ"‘ E}{.}Ialn your answer.

[

C?) Ih (775\/ é:C)
F0) = O.MaT 1A v
Plo= 50
s Ta X??chj /%2, ﬁcjiw/&ﬁ‘@f\ Coess \5?),&}—‘7

bl 1a oo, =75
/9(/5): 0‘?(/57& + /Cz//5j +5o

As)= R0
A A0/2, 7%1 /c;/‘fééu« (3 0’270000,

> . e 2 )0 '?/0 1)(-re)
) PlE)= 75%, £= s 7 S—

95&_;“)§, ?éa’('/af +50 ¥ - ~o © | /Y0
O= 096 <106 = 900

ra lo I

Success Criteria:
e | can solve quadratic functions by factoring/ then setting each factor equal to zero
e | can solve quadratic functions by using thie quadratic formula

(1915 + QI.5)
oo Ih M >/Q,c:f” Lolé %A /d/m«ﬁm

1S 95’0 S0,
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Chapter 3 — Quadratic Functions
3.6 — Zeroes of Quadratic Functions

Learning Goal: We are learning to determine the number of zeros of a quadratic function.
Before we begin, let’s think about a couple of things...

Remember — FUNCTIONS CAN BE DESCRIBED AS A SET OF ORDERED PAIRS, where the “ordered
pair” is a pair of numbers: a domain value and a range value which can look like (x, f(x)). We

have talked about the vertex of a parabola. Consider a parabola opening down (which means it
will have a maximum value.

The vertex of that parabola is NOT the maximum. Instead, the vertex is a POINT which is made
up of two special numbers. The domain value is WHERE the max occurs and the functional
value (the *y” value) is the maximum.

When we talk about the ZEROS of a quadratic we need to understand what we mean by that.
Consider the sketch of the graph of the quadratic function f(x)=-2(x—3)* +2

O@L"/“L

Z@rc) S &

17
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Finding the Zeros of a Quadratic

We can find those pesky zeros in a number of ways: _
e i S gy T =ax (=5

1) Writing the quadratic inzeros-form (by factoring) 7f

2) Writing the quadratic in vertex form, and doing some algebra (a bit nasty)

3) Using the quadratic formula (but the quadratic MUST BE IN STANDARD FORM -
f(x)=ax’ +bx+c)

4) Using graphing technology (lame, but legit)

Example 3.6.1 | M - L

Determine the zeros: e = | ,/-/"'_\.« Ao o+ |
a) f(x)=x*-3x-4 j: -3 b) g(x) =2X* +x£L %, -l

—L‘JAP ( ) Q 2 N \ / '

fio= (xfhoc) P
x-(-1) .
)= (D x < ()
X=4, X=—

_ T
X'a )X"{



Example 3.6.2

7 n ok

Determine why the quadratic f (x) :@)x—l)2 +2 has no W
pa

TLQ N od kY Need o heve

oppor e 53 o hae A zer8

Example 3.6.3

o o)™
v 0

Determine the zeros of g(x) =—(x+1)°+8

Sl +E

yw

—_

g J“? -
;A’Qproy. el Q»r,m .

0 s =1 =X

Xt |

= X

@) -J7 -

- 3.7+ =X

19



Example 3.6.4

Using the quadratic formula, determine the zeros of the quadratic:

In case you’ve forgotten, the quadratic formula is x = 5
a

. b c
a) f(x)=2x"+3x-7

T
A(2)

- 377456
{

> 1)6
%= -——ﬁ

/7 - -3 qf-J-é?
Dx- 22

X=[7

—b++/b?—-4ac

I o
b) g(x):3x2—£2x+4

X < ;2 _TJQ?“_.?/:T);(;
(3)

20



The Discriminant

The Discriminant of the quadratic formula is called the DISCRIMINANT because | Ls c/6f7

f)‘zor\\m'wﬂj ~ T{w— Z?Qw((a(_ tels vs o ey Z2eéro o (-

The Discriminant is b® —4ac hes.

1) If b2—4aq> o 5 Y ou Lave Q_ zZe oS

Nes S e

o
\f

2) If b®—4ac ::C)) }/ou }]We 1 2oro.

3) If\k_)z—4ac Lo /V(M Alcuve (7 Ze oS

L N

i"ll'.l eql O&,P::’/c.
0
Example 3.6.5
Determine the number of zeros using the discriminant: L
a) f(x):%x2+3x—2 b) g(x)=<x?+4x—4

I &

—

_ ?T/L - /6 ’F/é
=5 Do 4 zew> "0z o i cers /

c) h(x) =3x*+5x+6
& o c

2 R (2)(3 ﬁf?c.c = ?Qf?’/w’)/—‘f)

b e = 950
> A5 T7
~—-97 20 , o O zeps.
Success Criteria:

e | can recognize that a quadratic function may have 0, 1, or 2 zeros
e | can use the discriminant of the quadratic formula to determine the number of zeros

21



Acc()
MATH@TD MCR3U

Chapter 3 — Quadratic Functions
3.7 — Families of Quadratic Functions

Learning Goal: We are learning the properties of families of quadratic functions.

Consider the two quadratic functions:

f (X) :@(X_3)2 +1, and g(x) ::'—3_(':,x—3)2 +1 What’s Different? (A

Clearly f(x) and g(x) are different functions, but they do share the same vertex, and the same
axis of symmetry. These quadratics are said to be in the same “family” |"' A

(some might say they are in the same vertex family) Lt y
ﬁ \ va’//'
/£|. Ny

Next, consider n(x) :.r:?;(x+ 2)(x—4), andf(x) :Ilg\gx +2)(x—4). We see another kind of family
here because h(x) and f (x) share the same zeros, and the same axis of symmetry.
(some might say these quadratics are in the same zeroes family)  What’s Different?

oL

Finally consider the third form of a quadratic. Consider

EN | | f, y
j; (X> = ox OZX I 7 l: T ha Y- berced/ 15 Te
j()() = axa T 8)? + 7 I'.| Samé.

h—_ __

22



Example 3.7.1
Determine the equation of the quadratic with zeros x = 3 and x = —1 and that passes

through the point (5, 6) “ﬁ\@_ Vs om N,nﬁ_

x J |_ |

£l = a(x-c)x-s)
0= X"%)(x—f' >

é = d(g”%>(§4(7
6= a(2)e)

Example 3.7.2
Determine the equation of the quadratic function f(x) with amax value of 3 and axis of

symmetry with equation x =-5 if /f (2) =-18,

\Px [ (A %) / > | ﬁ(r) N
¢
g(r)“a(x—rf) ’KLB
{(—~ C((;) Tsf +t s
- a(?) (6= Zcee) €3

“d|= 49 - '
S

-3 _ a4 ' Bpbhegoran T le.

49 S|z 2

3 %Ky o jwml /““”éf
L\% Fae
“—<

-
7 S

Success Criteria:
e | cansolve for “a” if given either the vertex or zeros

23
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Chapter 3 — Quadratic Functions

3.8 — Linear-Quadratic Systems

MCR3U

Learning Goal: We are learning to solve problems involving the intersection of a linear and

quadratic function.

Recall from Grade 10 that solving a SYSTEM OF LINEAR EQUATIONS could be interpreted to mean
finding the point of intersection of the two lines. The solution to a SoLE is a point, (x,y). From

an algebraic point of view, we have two techniques for solving a SoLE:

~—>21) Substitution
2) Elimination

Example 3.8.1
Solve the SoLE
2Xx+3y=7
X 2)7_;—7 @)
Algebrajcally
g‘k/ Smjgsuvﬁ-:m

Graphically

5

Figure 3.8.1

24



Solving a Linear-Quadratic System is more difficult, but we have the tools to succeed!
We will need to make use of (at least) one Property (or Rule) of Algebra:

THE TRANSITIVE PROPERTY OF EQUALITY
Rule: Given three numbers (or more generally, three mathematical objects) a, b, and c,

andif c=aandc=b, then a=h.

C A C B
Example: If f(x) :_—_gx_—élﬂ_g(x) =x"-3x-10, and if f(x)=g(x), then
/¥ —3x-10=-2x—4 | -

L Note: Solving a Linear-Quadratic
Example 3.8.2 p\_ ;{_{h Y Syste_m is equivalent to f?nding the
Solve the Linear-Quadratic System given directly | Selution(s) to a quadratic equation.
For L-QS’s we can therefore have

above.
Gosl o) /1 =6 0, 1, or 2 solutions.
el —_ —_— - A-‘. ——l
\\g}wf.ﬁ i % >< é O -3,2 We will apply the techniques for
(}(r 3) (}(-f-;)) =0 ffsolving quadratic equations!
IR |7 , A
)( = 3 GV\J X = ’g / =7 =
W \ ‘ ) \ £ ) - L—
We gre g:-.ng[__l(f) 717%2 !ﬂc)yf;- (9,7L {\I/JI)ZQ/)QC. 74,),}} 2 pof T; ﬂ;l“ ‘5 O /Or
<’- Q) 2 (1€
we ¢ X O"Ad yl ({—Mg‘m; )L&
‘H\o CoS it

S2)=-3/3) -9\ §2)--2=2) -7 R
H(3) = —0 f(2)=0©

Tja péfg ore [3/ ~/©) 0 (’Q/O)

25



Example 3.8.3 (#2c, on Page 198 from your text)
Determine the point(s) of intersection of the two functions algebraically:

f(x)=3x*-2x-1, g(X)=—x—6
DX e = —X -6
2

Sx=x 5= 0O

4 Lo -

(3)

[ /=5 — H’]WF A JSe

6 /o P@f‘?

\

N Sa /u 1L*' o ond

Example 3.8.4
Determine the number of points of intersection without solving the System:

f(X)=x*+2x+14, g(x)=8x+5 (Hint: To solve this problem you must be

very discriminating) £
X/Q\T;}X *E“/ f( - 83( T _(DP (A Se _fl—ﬂlflca‘ o SSCMadrea /s
—Tx -5

XQF- bx +7=0

1§<=" loe = (-6 = ?// ) if'@- )

—

26



Example 3.8.5 (#9 on Page 199 in your text)

9. Determine the value(s) of £ such that the linear function g(x) = 4x + % does

/ot intersect the parabola (%) = =37 —w+4d
N
e < O

(s7-9(3)(k-1) < O
= IA((A —_({)f“’%f 2k

oAkt <o |17

7342&k K> 73

A
N 2 ’\/{/‘
Example 3.8.6 (#10 in your text) LK Wy Megias
10. A daredevil jumps off the CN Tower and falls freely for several seconds before CAugeys (-44_

A releasing his parachute. His height, /(#), in metres, # seconds after jumping

can be modelled by ‘;/EZW‘X‘% /é )D/‘W

hi(t) = —4.9¢* + t + 360 before he released his parachute; and
hy(2) = —4r + 142 after he released his parachute.

How long after jumping did the daredevil release his parachute?

’ﬁ:_é—_f ?éa/~ ?é 942 C\Dfp’év ?.___"__i_w

¢ L ,, a/ff (?)
O= 174 -5 -2]%F 51 6556

) ko ’aw&Jw

Jumlf-’“s é z _‘{;"‘165\,52’

Success Criteria:
e | can solve for the points of intersection by
1. Making the functions equal to each other
2. Solving for the zeros (x-coordinates) of the resulting quadratic function
3. Substituting the zeros into the linear equation to determine the corresponding y-
values
e | can identify when solutions are inadmissible
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